
qm=;+= vr{ ;+s]t vr{ lzif{s sfo{qmdsf] gfd >f]t s}lkmot

1 31151 ;8s tyf k'n 

lgdf{0f
st'ª k'n lgdf{0f 400     

a]g]g b]lv a|fu/ ;Dd uf] 

af=lgdf{0f
500   -         

a|fv' b]lv v§]g u'Daf ;Dd uf] 

af=lgdf{0f
500   -         

Rofd|f8fF8f uf]=af= dd{t 300    -         

lddfª dfg] lgdf{0f 500   -         

j8f sfof{no /+u/f]ug 100    -         

a|fv' klx/f] /f]syfd tyf 

tf/hfnL
500   -         

cGo ;fj{hlgs lgdf{0f tkm{ 

hDdf
2,400   

gd:t] o'jf ;dfh af6 uf]? 

h'bfO{ sfo{qmd 
100      

ckf+utf Ifdtf ljsf; tflnd 100      

3,000   

/sd

j8f :tl/o kF'hLut sfo{qmd j8f g+=#

/sd ?=xhf/df

hDDff

2 31159 cGo ;fj{hlgs 

lgdf{0f

sfo{qmd vr{225223


